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N = 0 &8 AFH Y & A AN
201BEE = 2 g M AFHIEXNSANY A
SA: NGB
M HMAFHIG XJAS
Sl SHAFHAAXFAY (LHAFTHN AT RAIY) (el &e)
2 A .2 () - HEMNY - BHES 0] AFoH Iy H HnE2
XA 860,727 860,727 0
7l 858,540 858,540 0
=2 2,187 2,187 0
SEAZHI A XA 860,567 860,567 0
7l 858,540 858,540 0
2 2,027 2,027 0
UHAFHI DX A (EHAFTHI G XS AIY) 860,567 860,567 0
7l 858,540 858,540 0
2 2,027 2,027 0
B AZB X X R ALY 860,567 860,567 0
J| 858,540 858,540 0
2 2,027 2,027 0
401 AlEHIZ =20 437,290 449,290 A 12,000
J| 437,290 449,290 A12,000
01 Al&HI 437,290 449,290 A 12,000
Ods SLY=E0I2 =2 SIHBAII2)
A 300,0002 * 101.666m 30,500 13,500 17,000
7| 30,500 13,500 17,000
Odls SLE0IE SSAMEEX(I12)
a8 0™ 0 17,000 A17,000
7| 0 17,000 A 17,000
O&s JtEntE 482 4X(012)
3" 0™ 0 20,000 220,000
7l 0 20,000 220,000
Oas JHHENESZE 2 =23 (012)
22X 100,000€ * 230m 23,000 15,000 8,000
J| 23,000 15,000 8,000
402 DI2HKH=0| & 421,250 409,250 12,000
J| 421,250 409, 250 12,000
01 DI =B X 421,250 409,250 12,000
Oats JILHEDIE sIIAHE2ED & =B FHY|
21=) A 76,250,0002 * 14l 76,250 64,250 12,000
7| 76,250 64,250 12,000




